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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 

questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 

standardisation events which all associates participate in and is the scheme which was used by them in 

this examination.  The standardisation process ensures that the mark scheme covers the students’ 

responses to questions and that every associate understands and applies it in the same correct way.  

As preparation for standardisation each associate analyses a number of students’ scripts.  Alternative 

answers not already covered by the mark scheme are discussed and legislated for.  If, after the 

standardisation process, associates encounter unusual answers which have not been raised they are 

required to refer these to the Lead Assessment Writer. 

 

It must be stressed that a mark scheme is a working document, in many cases further developed and 

expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 

schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 

assessment remain constant, details will change, depending on the content of a particular examination 

paper. 

 

  

Further copies of this mark scheme are available from aqa.org.uk 

*206G8633/WH/MS* 
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Part 1 – General marking guidance for MFL Writing Tests 

Level of response marking instructions 

 

Level of response mark schemes are broken down into levels, each of which has a descriptor.  The 

descriptor for the level shows the average performance for the level.  There are marks in each level. 

 

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as 

instructed) to show the qualities that are being looked for.  You can then apply the mark scheme. 

 

Step 1 Determine a level 

 
Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the 
descriptor for that level.  The descriptor for the level indicates the different qualities that might be seen in 
the student’s answer for that level.  If it meets the lowest level then go to the next one and decide if it 
meets this level, and so on, until you have a match between the level descriptor and the answer.  With 
practice and familiarity you will find that for better answers you will be able to quickly skip through the 
lower levels of the mark scheme. 
 
When assigning a level you should look at the overall quality of the answer and not look to pick holes in 
small and specific parts of the answer where the student has not performed quite as well as the rest.  If 
the answer covers different aspects of different levels of the mark scheme you should use a best fit 
approach for defining the level and then use the variability of the response to help decide the mark within 
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be 
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content. 
 

Step 2 Determine a mark 

 

Once you have assigned a level you need to decide on the mark.  The descriptors on how to allocate 
marks can help with this.  The exemplar materials used during standardisation will help.  There will be an 
answer in the standardising materials which will correspond with each level of the mark scheme.  This 
answer will have been awarded a mark by the Lead Examiner.  You can compare the student’s answer 
with the example to determine if it is the same standard, better or worse than the example.  You can then 
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example. 
 
You may well need to read back through the answer as you apply the mark scheme to clarify points and 
assure yourself that the level and the mark are appropriate. 
 
Indicative content in the mark scheme is provided as a guide for examiners.  It is not intended to be 
exhaustive and you must credit other valid points.  Students do not have to cover all of the points 
mentioned in the Indicative content to reach the highest level of the mark scheme. 
 
An answer which contains nothing of relevance to the question must be awarded no marks. 

 
  



 MARK SCHEME – GCSE ITALIAN – 8633/WH – JUNE 2020 

4 
 

Marks will be allocated in the following way at Higher Tier: 

 

 Content Quality of 

Language 

Range of 

language 

Accuracy Conveying 

key 

messages 

Application of 

grammatical 

knowledge of 

language and 

structures 

Total 

Question 1 10 6     16 

Question 2 15  12 5   32 

Question 3     6 6 12 

Total 25 6 12 5 6 6 60 

 

Higher Question 1 / Foundation Question 4  

 
10 marks for Content + 6 marks for Quality of Language (16 marks in total). 
 
Candidates write approximately 90 words in total about four different bullet points.  All bullet points must 
be covered, but there is no need for equal coverage of the bullets.  
 
When deciding a particular mark, it is advisable to identify the band of marks first, and then decide 
whether you are tempted by the band above or the band below.  This will enable you to award an 
appropriate mark within a mark range. 
 
The question is marked for Content and for Quality of language, according to the following criteria:  
 
(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2): 
 
Content 
 

Marks Response 

9-10 
A very good response covering all aspects of the task.  Communication is clear and a lot 
of information is conveyed.  Opinions are expressed. 

7-8 
A good response covering all aspects of the task.  Communication is mostly clear but 
perhaps with occasional lapses.  Quite a lot of information is conveyed.  Opinions are 
expressed.   

5-6 
A reasonable response covering almost all aspects of the task.  Communication is 
generally clear but there are likely to be lapses.  Some information is conveyed.  An 
opinion is expressed. 

3-4 
A basic response covering some aspects of the task.  Communication is sometimes clear 
but there are instances where messages break down.  Little information is conveyed.  An 
opinion is expressed. 

1-2 
A limited response covering some aspects of the task.  Communication is often not clear 
and there may be frequent instances where messages break down.  Very little 
information is conveyed.  There may be no opinions expressed. 

0 The content does not meet the standard required for a mark at this tier. 

 
The candidate’s response must be relevant to the bullet points.  Any information which cannot be 
deemed relevant in the broadest sense must be ignored when awarding the mark for Content. 
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A minimum number of bullet points must be covered for the award of marks for Content, as follows: 
 

 7-10 marks: 4 bullet points 
 5-6 marks: 3 bullet points 
 3-4 marks: 2 bullet points 
 1-2 marks: 1 bullet point 

 
The information that the candidate gives must be clear.  If what is written is unclear, this will have a 
bearing on the mark for Content.  For example, the candidate may convey information in relation to all 
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more 
appropriate.  The more lapses in clarity that there are, the lower the mark is likely to be.  All of the 
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible, 
in which case that bullet point will not have been covered, meaning that the maximum mark will be 6. 
 
You must accept any information which is a plausible response to the bullet point, even if it does not 
explicitly mention, for instance, a time or place.  For example, if the bullet asks what the candidate did 
last weekend, and he/she writes ‘I went to see my grandparents and then went to a theme park’, this can 
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned. 
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they 
write ‘I bought some clothes and went to see a film’, this is also an acceptable fulfilment of the task, even 
though ‘shopping centre’ is not mentioned. 
 
The bands refer to the amount of information that is conveyed, as follows: 
 

 9-10: a lot 
 7-8: quite a lot 
 5-6: some 
 3-4: little 
 1-2: very little 

 
All of these have to be considered with reference to the suggested number of words, which is 
approximately 90.  In other words, a candidate who writes approximately 90 words, clearly 
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other 
criteria are met.  Conversely, a candidate may write much more than 90 words, but the language is so 
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.  
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed. 
 
The candidate must give opinions in order to have access to certain marks, as follows: 
 
 7-10: two opinions 
   
 3-6: one opinion 

 
This is not an automatic mark and the other criteria within a particular band must be met.  If there is no 
opinion, the maximum mark is 2.  An opinion may be expressed simply, for example: ‘I like going 
shopping’.  Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion.  A 
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think 
that’.  For example: ‘I think that my town is big’. 
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Quality of language 
 

Marks Response 

5-6 

A variety of appropriate vocabulary is used.  Complex structures and sentences are 
attempted.  There are references to three time frames, which are largely successful. 
Errors are mainly minor.  Some more serious errors may occur, particularly in complex 
structures and sentences, but the intended meaning is nearly always clear.  The style 
and register are appropriate. 

3-4 

Some variety of appropriate vocabulary is used.  There may be some attempt at 
complex structures and sentences.  There are references to at least two different time 
frames, although these may not always be successful.  There may be some major 
errors, and more frequent minor errors, but overall the response is more accurate than 
inaccurate and the intended meaning is usually clear.  The style and register may not 
always be appropriate. 

1-2 

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of 
the task.  Sentences are mainly short and simple or may not be properly constructed. 
There may be frequent major and minor errors.  Little or no awareness of style and 
register. 

0 The language produced does not meet the standard required for a mark at this tier. 

 
The whole of the response must be assessed when awarding the mark for Quality of Language, even if 
some of it is irrelevant to the bullet points. 
 
Once you have decided on the mark for Content, you should read through the response once more and 
decide on the mark for Quality of language.  A mark of 0 for Content automatically results in a mark of 0 
for Quality of Language but, apart from that, the Content mark does not limit the mark for Quality of 
language.  However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality 
of language. 
 

• Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference 

to time frames; accuracy of the language; style and register.  Sometimes it will be necessary to adopt 

a ‘best fit’ approach, because the five strands will not be consistently demonstrated.  Whether it is the 

top or bottom mark in the band will depend on whether the criteria are nearer to those of the band 

above or below. 
 

• In order to score in the 5-6 band, there must be reference to all three time frames (past, present and 

future).  For the 3-4 band, there must be reference to at least two time frames.  Reference to a 

particular time frame may be demonstrated with one example.  The verb used to refer to a particular 

time frame need not be totally correct, provided the message is clear.  These marks are not awarded 

automatically and the other criteria in the band are equally important.  Notice that references are to 

time frames, not tenses.  So, for example, the present tense usage in the following sentence is a 

reference to a future time frame: ‘I’m going to the concert next week’. 
 

• When considering the complexity of the language, you should bear in mind that a) this is the overlap 

question and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of 

language in this question are not as demanding as the language criteria for Higher Question 2.  

However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not 

always be successful and this may lead to serious errors because of the complexity of the structure or 

sentence which the candidate attempts.  Complexity may be shown in some of the following ways: 

different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.  
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This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at 

GCSE level. 
 

• The setting and bullet points are likely to mean that the style and register of the writing will be 

appropriate.  If informal address is used when the task is in a formal setting, or vice versa, there is no 

need to penalise the candidate merely for that.  It may, however, be a contributory factor in the award 

of the overall mark if there are other weaknesses.  There is no requirement for candidates to present 

their piece of writing in a particular way because of the context, eg a blog or email does not need to 
look like a blog or email.  It is the content which is to be marked. 

 
Higher Question 2 
 
15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total). 
 
Candidates write approximately 150 words in total about two different bullet points.  Both bullet points 
must be covered, but there is no need for equal coverage of the bullets.  
 
When deciding a particular mark, it is advisable to identify the band of marks first, and then decide 
whether you are tempted by the band above or the band below.  This will enable you to award an 
appropriate mark within a mark range. 
 
The question is marked for Content, for Range of Language and for Accuracy, according to the following 
criteria: 
 
Content 
 

Marks Response 

13-15 
An excellent response which is fully relevant and detailed, conveying a lot of 
information.  Communication is clear with little or no ambiguity.  Opinions are 
expressed and justified. 

10-12 
A very good response which is almost always relevant and which conveys a lot of 
information.  Communication is mostly clear but there are a few ambiguities.  Opinions 
are expressed and justified. 

7-9 
A good response which is generally relevant with quite a lot of information conveyed. 
Communication is usually clear but there are some ambiguities.  Opinions are 
expressed and may be justified. 

4-6 
A reasonable response with some relevant information conveyed.  Communication is 
sometimes clear but there may be instances where messages break down.  An 
opinion is expressed. 

1-3 
A basic response which conveys a limited amount of relevant information. 
Communication may not be clear and there are instances where messages break 
down. An opinion may be expressed. 

0 The content does not meet the standard required for a mark at this tier. 

 
The candidate’s response must be relevant to the bullet points.  Any information which cannot be 
deemed relevant must be ignored when awarding the mark for Content. However, as the bullet points 
are much more open-ended, there is scope for candidates to include information which is still relevant 
but not in direct response to a bullet point.  For example, when addressing a bullet point requiring a 
response about a memorable holiday, candidates may refer to where they might go on a future holiday.  
Any information which cannot be deemed at all relevant must be ignored when awarding the mark for 
Content. 
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As with the overlap question, you must accept, as an accomplishment of the task, any plausible 
response to a bullet point, even if an element such as time or place are missing. 
 

• In order to score a mark of 13 or more for Content, both bullet points must be covered.  However, 

there is no requirement for an equal coverage of both bullet points. 
 

• A candidate who conveys information in relation to one bullet point only can score a maximum of 12 

marks for Content. 
 

• Provided at least some coverage of both bullet points is evident, candidates will have access to full 

marks where the other criteria are met. 
 

• The bands refer to the amount of information that is conveyed, as follows: 
 

 13-15: a lot 
 10-12: a lot 
 7-9: quite a lot 
 4-6: some 
 1-3: a limited amount 

 
All of these have to be considered with reference to the recommended number of words, which is 
approximately 150.  In other words, a candidate who writes approximately 150 words, clearly 
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other 
criteria are met.  Conversely, a candidate may write much more than 150 words, but the language is so 
inaccurate that only a limited amount of information is conveyed successfully.  If a candidate writes 
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed. 
 

• The candidate must give and justify opinions in order to have access to certain marks, as follows: 
 

 10-15: at least two opinions are expressed and justified 
 7-9: at least two opinions are expressed 
 4-6: at least one opinion is expressed 

 
This is not an automatic mark and the other criteria within a particular band must be met.  If there is no 
opinion, the maximum mark is 3.  An opinion may be expressed simply, for example: ‘I like going 
shopping’.  Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a 
justification of an opinion.  A neutral or descriptive adjective is only classed as an opinion or a 
justification if it is preceded by something like ‘I think that’.  For example: ‘I think that my town is big’ 
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it is 
big’ (opinion + justification). 
 

• Once the correct band has been decided upon, the middle mark in the band will be given to a 

candidate whose writing fits the band well.  If the band above was a consideration, then award the 

higher of the three marks; if the band below was a consideration, then award the lower of the three 

marks. 
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Range of language 
 

Marks Responses 

10-12 
Very good variety of appropriate vocabulary and structures.  More complex sentences 
are handled with confidence, producing a fluent piece of coherent writing.  The style and 
register are appropriate. 

7-9 
Good variety of appropriate vocabulary and structures.  More complex sentences are 
regularly attempted and are mostly successful, producing a mainly fluent piece of 
coherent writing with occasional lapses.  The style and register are appropriate. 

4-6 
Some variety of appropriate vocabulary and structures.  Longer sentences are 
attempted, using appropriate linking words, often successfully.  The style and register 
may not always be appropriate. 

1-3 
Little variety of appropriate vocabulary.  Structures are likely to be short and simple.  
Little or no awareness of style and register. 

0 
The range of language produced does not meet the standard required for a mark at this 
tier. 

 
The whole of the response must be assessed when awarding the mark for Range of language, even if 
some of it is irrelevant to the bullet points. 
 
Once you have decided on the mark for Content, you should read through the response once more and 
decide on the mark for Range of language and for Accuracy.  A mark of 0 for Content automatically 
results in a mark of 0 for Range of language but, apart from that, the Content mark does not limit the 
Range of language mark.  However, a short piece is unlikely to show sufficient variety for a high mark for 
Range of language.  
 

• Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences; 

fluency of the writing; style and register.  For a mark of 12, there will be good evidence that the criteria 

for all five strands have been met comfortably.  Sometimes it will be necessary to adopt a ‘best fit’ 

approach, because the five strands will not be consistently demonstrated.  Once the correct band has 

been decided upon, the middle mark in the band will be given to a candidate whose writing fits the 

band well.  If the band above was a consideration, then award the higher of the three marks; if the 

band below was a consideration, then award the lower of the three marks. 
 

• There must be more complex sentences for the candidate to score 7 marks or more.  For a mark in 

the 10-12 band, the complex sentences are produced confidently, with few errors in structure; for a 

mark in the 7-9 band, the attempts at complex sentences are mostly successful.  Complex sentences 

may be formed in some of the following ways across the languages: use of subordinate clauses; use 

of relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend 

greater fluency.  This should not be seen as a ‘tick list’, but rather as an indication of the definition of 

complexity at GCSE level. 
 

• The setting and bullet points are likely to mean that the style and register of the writing will be 

appropriate.  If informal address is used when the task is in a formal setting, or vice versa, there is no 

need to penalise the candidate merely for that.  It may, however, be a contributory factor in the award 

of the overall mark if there are other weaknesses. 
 

• There is no requirement for candidates to present their piece of writing in a particular way because of 

the context, eg a blog or email does not need to look like a blog or email.  It is the content which is to 
be marked. 
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Accuracy 
 

Marks Response 

5 
Accurate, although there may be a few errors especially in attempts at more complex 
structures.  Verbs and tense formations are secure. 

4 
Generally accurate.  Some minor errors.  Occasional major errors, usually in attempts at 
more complex structures.  Verbs and tense formations are nearly always correct. 

3 
Reasonably accurate.  There are likely to be minor errors and there may be some major 
errors, not only in complex structures.  Verb and tense formations are usually correct. 

2 
More accurate than inaccurate.  The intended meaning is generally clear.  Verb and 
tense formations are sometimes correct. 

1 
There may be major errors and frequent minor ones, and the intended meaning is not 
always clear.  There is only limited success with verb and tense formations. 

0 The accuracy does not meet the standard required for a mark at this tier. 

 
The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is 
irrelevant to the bullet points. 
 
A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content 
mark does not limit the Accuracy mark.  However, a short piece is unlikely to show sufficient evidence for 
a very high mark for Accuracy. 
 

• For the award of 5 marks, the writing need not be perfectly accurate.  There may be errors in attempts 

at more complex language and the occasional minor error, but these will be infrequent. A minor error 

is one which has no bearing on communication (for example, incorrect gender), whereas a major error 

is one where communication is affected. 
 

• For a piece of writing that contains a good number of errors, a useful starting point will be to decide 

whether overall it is more accurate than inaccurate.  If it is, then the minimum mark will be 2. 
 

• A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.  

All verbs and tense formations should be considered here but as there are only two bullet points in this 

question, only two time frames will be elicited.  While some candidates will develop their ideas and, in 

so doing, use a third time frame and different tenses, there is not the same requirement as there in in 

Foundation Question 4/Higher Question 1 to refer to all three time frames. 

 
Higher Question 3 
 
6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language 
and structures (12 marks in total). 
 
Candidates translate into the target language a passage in English, totalling at least 50 words.  The 
translation is marked for Conveying key messages and for Application of grammatical knowledge of 
language and structures, according to the following criteria: 
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Conveying key messages 
 

Marks Response 

6 All key messages are conveyed. 

5 Nearly all key messages are conveyed. 

4 Most key messages are conveyed. 

3 Some key messages are conveyed. 

2 Few key messages are conveyed. 

1 Very few key messages are conveyed. 

0 
The content does not meet the standard 
required for level 1 at this tier. 

 
The translation is divided into 13 key messages.  A tick will be awarded for each key message that is 
communicated, despite any minor inaccuracies.  The total number of ticks awarded equates to a mark 
according to this table: 
 

Total ticks Mark 

13 6 

11/12 5 

8/9/10 4 

5/6/7 3 

3/4 2 

1/2 1 

 
When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a 
native speaker understand the target language version without reference to the original English?’ If the 
answer is ‘yes’, award a tick. 
 
Application of grammatical knowledge of language and structures 
 

Marks Response 

6 Excellent knowledge of vocabulary and structures; virtually faultless. 

5 Very good knowledge of vocabulary and structures; highly accurate. 

4 Good knowledge of vocabulary and structures; generally accurate. 

3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate. 

2 Limited knowledge of vocabulary and structures; generally inaccurate. 

1 Very limited knowledge of vocabulary and structures; highly inaccurate. 

0 The language produced does not meet the standard required for Level 1 at this tier. 
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Once you have decided on the mark for Conveying key messages, you should read through the 
translation once more and decide on the mark for Application of grammatical knowledge of language and 
structures. 
 

• This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key 

messages is 0, in which case the mark for Application of grammatical knowledge of language and 

structures must also be 0.  

• There is no direct correlation between the two marks, but your first thought should be to see if the 

same mark is appropriate.  For example, a candidate may have been given 7 ticks and you have 

awarded a mark of 4 for Conveying key messages.  You may have had to hesitate when deciding on 

one of the ticks but just decided against it.  This may then encourage you to give a mark of 5, rather 

than 4, for Application of grammatical knowledge of language and structures. 
 

• If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and 

award a mark accordingly.  Not to do so will penalise unfairly those candidates who make an attempt 

but commit serious errors in so doing. 
 

• Perfection is not required for full marks.  For example, occasional missing accents and minor spelling 

errors do not preclude a top band mark.  However, if there are numerous minor errors and incorrect 

use of accents which change the meaning of a word, this is likely to have an impact on the mark for 

Application of grammatical knowledge of language and structures. 
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Appendix 1 
 
Notes on the use of language 
 
The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands 
of marks in the Quality of Language and Range of Language categories.  They should not be seen as a 
checklist. 
 
Variety of vocabulary 
 
Consider particularly: 
 

• use of synonyms, eg preferisco, amo and mi piace molto rather than just mi piace. Si può 
trovare/vedere/visitare rather than just c’è, ci sono. Fantastico, emozionante, stupendo, meraviglioso, 
rather than just buono, bene etc 

• the appropriate endings of conjugated verbs and accurate auxiliary verbs which used incorrectly may 
change the meaning of the sentence is eg. mia madre ho mangiato…  

• the correct use of e and è 

• use of more sophisticated vocabulary – though the emphasis is on avoiding a lot of conspicuous 

repetition. 
 
Variety of structures 
 
Consider, for example: 
 

• use of infinitive constructions introduced by prepositions (prima di, per, di, senza, dopo aver), 
adjectives (è facile /è necessario), nouns (ho intenzione di) and after verbs (preferisco andare, mi 
piace studiare and the modal verbs dovere, potere, volere) 

• use of object pronouns lo faccio, la vedo 

• use of disjunctive pronouns (con lui/lei, per me, etc) 

• use of indefinite pronouns/adjectives such as qualcosa, qualcuno, tutti(e), etc 

• use of connectives such as non soltanto ... ma anche ..., da una parte ... dall’altra..., oltre a, quindi…. 

• use of adverbs and adverbial phrases such as comunque, a causa di, anche, per esempio, invece, 
fortunatamente, sfortunatamente 

• use of negatives (non…nessuno/mai/più, non…..né…..né, etc) 

• use of da constructions and constructions such as sono 5 anni che studio l’italiano 

• use of comparative expressions (così…come, tanto…quanto, più…di/che, meno….di/che…) 

• use of demonstrative adjectives and pronouns  (questo, questa, questi, queste, quello, quella, quegli, 
quelle etc) 

• use of possessive pronouns ((il) mio, (la) mia etc) 

• use of il/la + superlative adjective (il più... /la più... / il meno.../ la meno..../ il peggiore/ la migliore etc) 

• use of complex sentences and a range of tenses. 
 
Use of complex/longer sentences 
 
Consider: 
 

• use of subordinate clauses introduced by se, quando, dove, perché, come, mentre, visto che, che, con 
cui, quello che etc 

• use of relative clauses introduced by che, con cui, quello che etc 

• use of the present subjunctive after verbs of wishing, command, request, emotion and after penso che, 
credo che  

 
 and, when considering use of longer sentences: 
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• use of co-ordinating conjunctions: e, però, ma, perché. 
 
 
Use of time frames/tenses 
 

• The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include ‘references to 

two/three time frames’.  If a candidate refers to three time frames, it may well be through different 

tenses, but equally it could be through the present tense: Vado spesso al cinema, almeno una volta al 

mese (present); Sabato, vado in piscina (future); Fra due anni spero di andare all’università (future); 

suono la chitarra da tre anni (past). 

• The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’.  In this question, a candidate 

can impress by showing that he/she can use a good range of tenses, thereby adding to the range and 

complexity of language. 
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Appendix 2 
 
A glossary of terms used in the Writing assessment criteria 
 
NB This alphabetical list corresponds to all questions on both Foundation and Higher papers. 
 

ambiguity 
A problem with immediate communication caused by grammatical 
inaccuracy or a contradiction (eg, ‘I love it because it’s boring’). 

appropriate Language which is suitable for the requirements of the task. 

coherent 
Language which is easy to follow with a logical sequencing of ideas. 
See ‘fluent’. 

complex sentences 
Sentences which contain a subordinate clause or clauses. 
See Appendix 1 for examples. 

complex structures See Appendix 1 for examples. 

confidence Accurate use of language. 

delay in communication 
A problem with immediate communication caused by grammatical or 
lexical inaccuracy. 

fluent 
Language which is easy to follow with a logical sequencing of ideas. 
See ‘coherent’. 

grammatical structures Structures which are listed in the specification. 

justified The reason for holding a stated opinion. 

key messages 
With reference to the translation questions on both papers, these are 
the key messages as identified in the mark scheme. 

lapses A problem with communication caused by grammatical inaccuracy. 

linking words 
Words such as perché, e, però, purtroppo used to create longer 
sentences. 

longer sentences 
These may be complex, with more difficult subordinations, or more 
simple through the use of linking words such as ma, perché. 

major errors Errors which impair communication. Eg e and è. 

minor errors Errors which do not have a bearing on communication. 

opinions 
A positive/negative verb or adjective used to give an opinion; or a 
neutral adjective, such as ‘big’, preceded by something like ‘I think 
that’.  For example ‘I think that my bedroom is very small’. 

secure Accurate. 

structures See ‘grammatical structures’. 

style and register 
The style of writing.  Usually this will be determined by the nature of 
the task, requiring informal or formal register. 

time frames 

The use of tenses, with or without time markers, which refer to past, 
present or future events.  A present tense may be a future or past time 
frame, eg Il finesettimana prossimo vado al cinema (future time frame); 
studio l’italiano da cinque anni (past time frame). 

variety 
Use of different verbs’ nouns and adjectives which avoid a lot of 
conspicuous repetition. 
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Part 2 – Marking guidance for June 2020 series 
 

Question 01 

 

For this question, there are four compulsory bullet points which are assessed for Content (10 marks) 

and Quality of language (6 marks), as specified in the criteria below.  The maximum mark is 16.  The 

student is expected to produce approximately 90 words for this task.  The number of words is 

approximate and you must mark all work produced by the student. 

[16 marks] 

 

Content 

 

Level Marks Response 

5 9-10 A very good response covering all aspects of the task.  Communication is clear 

and a lot of information is conveyed.  Opinions are expressed. 

4 7-8 A good response covering all aspects of the task.  Communication is mostly 

clear but perhaps with occasional lapses.  Quite a lot of information is 

conveyed.  Opinions are expressed. 

3 5-6 A reasonable response covering almost all aspects of the task.  

Communication is generally clear but there are likely to be lapses.  Some 

information is conveyed.  An opinion is expressed. 

2 3-4 A basic response covering some aspects of the task.  Communication is 

sometimes clear but there are instances where messages break down.  Little 

information is conveyed.  An opinion is expressed. 

1 1-2 A limited response covering some aspects of the task.  Communication is often 

not clear and there may be frequent instances where messages break down. 

Very little information is conveyed.  There may be no opinions expressed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Notes 

 

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at 

least some coverage of all bullet points is evident, students will have access to full marks where the 

other criteria are met. 
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Quality of language 

 

Level Marks Response 

3 5-6 A variety of appropriate vocabulary is used.  Complex structures and sentences 

are attempted.  There are references to three time frames, which are largely 

successful.  Errors are mainly minor.  Some more serious errors may occur, 

particularly in complex structures and sentences, but the intended meaning is 

nearly always clear.  The style and register are appropriate. 

2 3-4 Some variety of appropriate vocabulary is used.  There may be some attempt 

at complex structures and sentences.  There are references to at least two 

different time frames, although these may not always be successful.  There 

may be some major errors, and more frequent minor errors, but overall the 

response is more accurate than inaccurate and the intended meaning is usually 

clear.  The style and register may not always be appropriate. 

1 1-2 The range of vocabulary may be narrow, repetitive and/or inappropriate to the 

needs of the task.  Sentences are mainly short and simple or may not be 

properly constructed.  There may be frequent major and minor errors.  Little or 

no awareness of style and register. 

0 0 The language produced does not meet the standard required for Level 1 at this 

tier. 

 

Notes 

(a) A major error is one which seriously affects communication. 

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. 

Apart from that, the Content mark does not limit the mark for Quality of language. 

 

General rule for this question: 

• the use of an infinitive in place of a finite verb is acceptable for conveying a message.  It would not, 

however, count as a reference to a present/past/future event (ie no annotation of Pr / P / F). 

Question 01.1 Content 

Bullet  Comments  

• le vacanze preferite Accept any reference to likes/dislikes of type(s) of holiday 
or a favourite holiday season. 

• le attività che fai di solito in vacanza   Accept any feasible references to activities carried out on 
holiday. 

• un viaggio che è andato male  Reference to a negative experience of a journey/holiday. 
Reference to the past is needed for the bullet point to be 
fulfilled. 
 

• una vacanza ideale. 
 

Accept any reference to a future or an ideal holiday. 
Reference to the future/conditional is needed for the bullet 
point to be fulfilled. 
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Question 01.2 Content 

 

Bullet  Comments  

• la tua festa preferita 
 

Accept any reference to any festivity in the world. 

• l’importanza delle feste 
 

Accept positive/negative aspects about the importance of 
festivities. 

• il tuo compleanno l’anno scorso 
 

Reference to the past is needed for the bullet point to be 
fulfilled. 

• come festeggerai il Natale prossimo Reference to the future/conditional is needed for the bullet 
point to be fulfilled. 

 

The following indicative content is an example of the response that students may give to this question. 
It demonstrates a balanced coverage of the compulsory bullet points. 
 

Either Question 

01.1 

This is a possible response (indicative content): 

 

Le mie vacanze preferite sono in estate perché posso andare al mare. Adoro 
andare nei paesi dove fa caldo come per esempio la Spagna. 
 

Di solito quando vado in vacanza, non faccio altro che prendere il sole e 
nuotare. La sera mi piace andare nei vari ristoranti e mangiare del cibo 
tradizionale del paese.  
 

La Pasqua scorsa, siamo andati in Egitto e il viaggio è stato orrendo! Il volo 
era in ritardo e c’era tanta turbolenza!   
 

Per la mia vacanza ideale, vorrei andare in Australia per tre mesi. Sarebbe 
bello e potrei visitare tante belle città.                          (96 words) 

 [16 marks] 

or Question 

01.2 

This is a possible response (indicative content): 

 
La mia festa preferita è il Natale perché ricevo tanti regali e passo del tempo 
con la mia famiglia. In Italia il Natale è molto importante perché è una festa 
tradizionale e tanta gente va alla messa di mezzanotte.  
 

Secondo me, le feste sono importanti perché tengono vive le tradizioni e la 
cultura di un paese. 
 

L’anno scorso per il mio compleanno, sono andata ad una pista di pattinaggio 
con i miei amici. Ci siamo divertiti un sacco. 
 

L’anno prossimo per Natale, vorrei preparare un dolce tradizionale per i miei 
vicini.                                                                              (91 words)  

[16 marks] 

 

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at 

least some coverage of all bullet points is evident, students will still have access to full marks where the 

other criteria are met.  
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Question 02 

 

For this question there are two compulsory bullet points, which are assessed for Content (15 marks), 

Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below.  The 

maximum mark is 32.  The student is expected to produce approximately 150 words over the whole 

question.  The number of words is approximate and you must mark all work produced by the student. 

[32 marks] 

 

Content 

 

Level Marks Response 

5 13-15 An excellent response which is fully relevant and detailed, conveying a lot of 

information.  Communication is clear with little or no ambiguity.  Opinions are 

expressed and justified. 

4 10-12 A very good response which is almost always relevant and which conveys a lot 

of information.  Communication is mostly clear but there are a few ambiguities. 

Opinions are expressed and justified. 

3 7-9 A good response which is generally relevant with quite a lot of information 

conveyed.  Communication is usually clear but there are some ambiguities. 

Opinions are expressed and may be justified. 

2 4-6 A reasonable response with some relevant information conveyed. 

Communication is sometimes clear but there may be instances where 

messages break down.  An opinion is expressed. 

1 1-3 A basic response which conveys a limited amount of relevant information. 

Communication may not be clear and there are instances where messages 

break down.  An opinion may be expressed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Notes 

 

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at 

least some coverage of both bullet points is evident, students will have access to full marks where the 

other criteria are met. 
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Range of language 

 

Level Marks Response 

4 10-12 Very good variety of appropriate vocabulary and structures.  More complex 

sentences are handled with confidence, producing a fluent piece of coherent 

writing.  The style and register are appropriate. 

3 7-9 Good variety of appropriate vocabulary and structures.  More complex 

sentences are regularly attempted and are mostly successful, producing a 

mainly fluent piece of coherent writing with occasional lapses.  The style and 

register are appropriate. 

2 4-6 Some variety of appropriate vocabulary and structures.  Longer sentences are 

attempted, using appropriate linking words, often successfully.  The style and 

register may not always be appropriate. 

1 1-3 Little variety of appropriate vocabulary.  Structures are likely to be short and 

simple.  Little or no awareness of style and register. 

0 0 The range of language produced does not meet the standard required for Level 

1 at this tier. 

 

Notes 

 

A mark of zero for Content automatically results in a mark of zero for Range of language.  Apart from 

that, the Content mark does not limit the mark for Range of language. 

 

Accuracy 

 

Level Marks Response 

5 5 Accurate, although there may be a few errors especially in attempts at more 

complex structures.  Verbs and tense formations are secure. 

4 4 Generally accurate.  Some minor errors.  Occasional major errors, usually in 

attempts at more complex structures.  Verbs and tense formations are nearly 

always correct. 

3 3 Reasonably accurate.  There are likely to be minor errors and there may be 

some major errors, not only in complex structures.  Verb and tense formations 

are usually correct. 

2 2 More accurate than inaccurate.  The intended meaning is generally clear.  Verb 

and tense formations are sometimes correct. 

1 1 There may be major errors and frequent minor ones, and the intended meaning 

is not always clear.  There is only limited success with verb and tense 

formations. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Notes 

 

A mark of zero for Content automatically results in a mark of zero for Accuracy.  Apart from that, the 

Content mark does not limit the mark for Accuracy. 
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General rule for this question: 

• the use of an infinitive in place of a finite verb is not acceptable for conveying a message nor as a 
reference to a present/past/future event (ie no annotation of Pr / P / F). 

 
Question 02.1 content 
 

Bullet Comment 

 

• come evitare lo stress e mangiare sano 
 

 

Reference must be made to both aspects:- 

stress and eating healthy. 

 

One reference to each of the aspects of the 

bullet points will be sufficient. 

 

Accept reference to the first person on the effect 

of stress. 

 

Reference to past, present or future is 

acceptable. 
 

 

• progetti futuri per cambiare il tuo stile di vita 
  

 
 

 
Reference needs to be made to future plans on 
a change in lifestyle habits (any mention of diet 
or exercise) for the bullet point to be fully 
relevant. 

 
Question 02.2 content 
 

Bullet Comment 

 

• perché gli esami sono importanti 
 

 

Accept any reference made about the importance 

of exams in the present tense. 

 
Any answer without an explicit reference to 
exams cannot gain the maximum marks for 
Content.  
 

 

• il tuo lavoro ideale 
 

 
Accept any reference to a future or an ideal 
job/career. 
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The following indicative content is an example of the response that students may give to this question. 
It demonstrates a balanced coverage of the compulsory bullet points. 
 

Either Question 

02.1 

This is a possible response (indicative content): 

 

Evitare lo stress e mangiare bene è molto importante. Si deve mangiare 

almeno cinque porzioni di frutta e verdura e si deve bere almeno due litri di 

acqua al giorno. L’acqua aiuta a tenere la mente fresca, agile e attiva. 

Durante il giorno è necessario fare colazione, che è il pasto più importante 

della giornata, poi pranzare e cenare. Per evitare lo stress, si deve fare un po’ 

di esercizio fisico e dormire almeno otto ore a notte. 

 

In estate, mi piacerebbe cominciare a correre almeno due volte alla settimana 

per mezz’ora. Non ho fatto nessun esercizio fisico per almeno un anno e 

sono ingrassata tanto. Mi piace nuotare, quindi vorrei anche andare in 

piscina, o quando vado in vacanza, andrò al mare. Sarebbe bello perché mi 

piace sentire l’acqua fresca sull mia pelle. Secondo me, stare in forma non 

vuol dire solo per poco tempo ma essere attivi ogni giorno.                                                                                                                                                                                                                                         

                                                                                             (150 words) 

 

 [32 marks] 

or Question 

02.2 

This is a possible response (indicative content): 

 

Gli esami servono come passo per continuare gli studi futuri e valutare la 

conoscenza di una materia. Gli esami sono anche molto importanti per una 

carriera futura. Senza superare gli esami non si può andare all’università per 

poi trovare un lavoro che paga bene. Tuttavia ci sono persone che trovano 

difficile sostenere un esame perché sono più bravi a fare lavori pratici come 

cucinare o a fare sport. Secondo me, avere successo nella vita non dovrebbe 

dipendere dagli esami che si fanno, ma dal nostro talento innato. 
 

Dopo la laurea, mi piacerebbe fare carriera. Vorrei diventare infermiera 

perché mi piace studiare la medicina e lavorare con la gente, in particolare 

con i bambini. Sarebbe bello se lavorassi in un ospedale abbastanza piccolo, 

così posso conoscere meglio i miei colleghi. Mia madre faceva l’infermiera e 

lei ha avuto molta soddisfazione nel suo lavoro. Ogni sera ci raccontava 

quello che succedeva a lavoro ed era molto interessante.  

                                                                                                 (155 words) 

 

 [32 marks] 
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Question 03 

 

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical 

knowledge of language and structures (6 marks) as specified in the criteria below.  The maximum 

mark is 12.  When awarding the marks the student’s response across the passage should be 

considered as a whole. 

[12 marks] 

 

Conveying key messages 

 

Level Marks Response 

6 6 All key messages are conveyed. 

5 5 Nearly all key messages are conveyed. 

4 4 Most key messages are conveyed. 

3 3 Some key messages are conveyed. 

2 2 Few key messages are conveyed. 

1 1 Very few key messages are conveyed. 

0 0 The content does not meet the standard required for Level 1 at this tier. 

 

Application of grammatical knowledge of language and structures 

 

Level Marks Response 

6 6 Excellent knowledge of vocabulary and structures; virtually faultless. 

5 5 Very good knowledge of vocabulary and structures; highly accurate. 

4 4 Good knowledge of vocabulary and structures; generally accurate. 

3 3 Reasonable knowledge of vocabulary and structures; more accurate than 

inaccurate. 

2 2 Limited knowledge of vocabulary and structures; generally inaccurate. 

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate. 

0 0 The language produced does not meet the standard required for Level 1 at this 

tier. 

Notes 

• A mark of zero for Conveying key messages automatically results in a mark of zero for Application 

of grammatical knowledge of language and structures, but apart from that, the Conveying key 

messages mark does not limit the mark for Application of grammatical knowledge of language and 

structures.   
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Key messages 
 

The translation is divided into 13 key messages (see below).  As general rule, the wrong person or 
wrong tense of a verb will not receive a tick.  Minor inaccuracies, such as incorrect gender or adjectival 
agreement, will not on their own prevent the award of a tick. 
 

 Message Accept Reject 

1  
 

I like my town.  

Mi piace la mia città/ la mia cittadina/il mio 

paese/paesino. 
 

2  
 

It’s fairly quiet, 
È abbastanza/ piuttosto tranquilla/o / calma/o. è without the accent 

3  

 

however there isn’t much 

to do. 

però/comunque/ma, non 

c’è molto/tanto da fare. 

c’è without 

the accent 
 

4  
 

It would be nice 
Sarebbe bello/piacevole 

future tense 

mi piacerebbe 

5  
 

to live near my friends 
vivere/abitare vicino ai miei amici/compagni. conjugated verb 

6  

 

so we could go to the 

cinema or the restaurant. 

così/allora potremmo andare al cinema o alil 

ristorante. 

future tense – potremo or any 

other tense instead of the 

conditional tense 

use of any preposition instead of 

al 

7  
 

On Saturdays, I work 
Il sabato/i sabati/ tutti i sabati/di sabato lavoro 

sul sabato or any preposition 

any other day of the week 

first person only of the verb 

lavorare  

sabato on its own 
 

8   

in a sports centre 
in un centro sportivo Use of definite article 

9  
because I would like to 

buy a new mobile phone. 

perché vorrei/mi piacerebbe comprare un 

nuovo cellulare/telefonino/telefono. 
the conjugated form of comprare 

10  
Yesterday I went to 

school 
Ieri sono andato/a a scuola 

 

the imperfect tense of the verb 

andare/ 

incorrect, wrong person or 

omission of the auxiliary verb/ 

the past participle on its own 
 

11  
 

and my teacher 

e il (mio) professore/la (mia) professoressa/ 

il/l’ (mio) insegnante/la (mia) insegnante/la 

(mia) maestra .... 

è with an accent 

gli insegnanti or any plural form 

of teacher 

12  gave me mi ha dato 

imperfect tense of the verb dare 

incorrect, wrong person or 

omission of the auxiliary verb/ 

the past participle on its own 
 

13 a good mark. un buon/bel voto/risultato.  
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Other reasonable alternative translations will also be accepted. 
 
A tick will be awarded for each key message that is communicated, despite any minor inaccuracies.  The 
total number of ticks awarded equates to a mark for Communication according to this table.  
 

Total ticks Mark 

13 6 

11/12 5 

8/9/10 4 

5/6/7 3 

3/4 2 

1/2 1 

0 0 

 




